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SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE
CLASS-VIII
ENGLISH WORKSHEET-I
CH-SCHOOL BOY
ROLL NO:

What is the boy fond of doing? (The School Boy)
What will happen if the tender plants are stripped of joy? Answer according to the story
The School Boy.
Why does the boy compare himself to a caged bird?
How does William Blake compare a child to a plant?
Read the extract given below and answer the following questions.
But to go to school in a summer morn,
Ol it drives all joy away,- Under a cruel eye outworn,
The little ones spend the day,
In sighing and dismay.
i.  What kills the joy for the boy?
ii. Explain the meaning of the phrase, under a cruel eye outworn.
iii. How do the little ones spend their days?
iv. Who is the speaker of these lines?
a. The schoolboy
b. The poet
c. The mother
d. The school teacher
v. Whose plight is the boy describing?
a. His own plight
b. The plight of the school boys
c. The school teacher’s plight
d. The father’s plight
Read the stanza carefully and answer the questions that follow:
| love to rise in a summer morn,
When the birds sing on every tree;
The distant huntsman winds his horn,
And the skylark sings with me.
O! what sweet company.
i.  Who sings with the poet?
ii. What is the sweet company of the child?
iii. How does the poet greet the summer morn?



SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE
CLASS-VIII
ENGLISH WORKSHEET-II
CH-THE SUMMIT WITHIN
NAME: ROLL NO:

1. What does the author mean the summit within? Answer in the context of The Summit
Within.
2. What has the experience as an Everester taught the narrator? Answer in the context of
The Summit Within.
Why do climbers feel like giving up the ascent sometimes and what keeps them going?
What was it about Mount Everest that the author found irresistible? Answer in the
context of The Summit Within.
What does Ahluwalia say about the summit within?
What were the symbols of reverence left by members of the team on the Everest?
What problems do the climbers face as they climb a mountain?
Read the following extract and answer the questions that follow:
Listen, Chuni - I want to ask you something. You have a good memory, and you've been
seeing me off and on for a long time. Just throw your mind back and tell me-did | go to
Ranchi in’ 587"
i. Chuni was at the moment (towards Bepin Babu) seems
(a) kind
(b) helpful
(c) angry
(d) revengeful
ii. Chuni had been seeing the speaker for a long time because he was
(a) an old acquaintance
(b) an intimate friend
(c) in need of his help
(d) his old servant
iii. By this time the speaker had been to Ranchi
(a) once
(b) never
(c) twice
(d) thrice
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AVTAR ENCLAVE
CLASS-VIII
ENGLISH WORKSHEET-II
CH-PRINCESS SEPTEMBER
ROLL NO:

. The eight sisters kept their windows shut. How did it affect them? Answer in the context

of Princess September.

What did the little bird sing to the beautiful Princess September?

What did the sisters advise the Princess to do with her bird?

How did the Queen react to Princess September’s grief?

How did Princess September treat the bird?

What comforted Princess September when the Maids of Honour put her to sleep?
What made princess September act upon her sister’s advice?

Suppose you are Princess September. Give a brief account of your heartbreaks,

sufferings and eventual happiness.



SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE
CLASS-VIII
ENGLISH WORKSHEET-IV
CH-PRESENT & PAST TENSE
NAME: ROLL NO:

Complete the following sentences using a simple past or present perfect tense
form.

1.0 my grandparents last week.
a) visited

b) had visited

c) have visited

2. in this office since 1996.
a) worked

b) have worked

c) had worked

3.There .................... an explosion near the railway station last night.
a) has been

b) was

c) had been

4. He ............oll since yesterday.

a) was absent
b) has been absent

c) had been absent



Sl him for a long time.
a) knew
b) have known

c) had known

6.He ................. to Germany last month.

a) went
b) has gone

b) had gone

sunset.

a) started, reached

b) have started, have reached
c) started, have reached

d) have started, reached

8He.ooooovvvvvviii.... ill for several weeks.

our destination before

O He . ..ooovee . ill for several months before he died.

a) was
b) has been

c) had been



1001 e this parcel in the morning.
a) received
b) have received

c) had received



SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE
CLASS-VIII
ENGLISH WORKSHEET-V
CH-FUTURE TENSE
NAME: ROLL NO:

Q1. Fill in the following blanks with the correct future tense of the verbs given in
brackets.

1. The picture ............. by the time we reach the hall. (start)

2. ceereene YOU ............yoUr studies by 2009 ? (finish)

3. The farmers. .............. not .............. the harvest before September. (reap)

4.1 ... exercise before the sun rises. (take)

5. He ............. his lesson by next week.

Q2. Rewrite the following sentences changing the Verb into the Future Tense :
1. | reached the station after the train had left.

2. The log of wood broke and they fell into the ditch.

3. They bound his hand and foot and held him fast.

4. | broke the lock open and got into the room.

5. The gardener was watering the plants.

6. You have really committed a blunder.

7. He found her weeping bitterly.



SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE
CLASS-VIII
ENGLISH WORKSHEET-VI
CH-ADVERBS
NAME: ROLL NO:

Identify the adverb in each of the following sentences.

1. They spoke loudly.

2. 1 am highly impressed with her presentation.

3. She looked quite nervous.

4. Radha works diligently in order to get promoted.
5. Fox s often believed to be cunning animal,
6. Barking dogs seldom bite.
7. Earlier, they used to travel in their car.
8. The birds were chirping merrily.
9. | sometimes go for a walk in the park.
10.He never came to my place to visit me.
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SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE
CLASS Vi
MATHS WORKSHEET

Q1. Write each as percentage :
a) 0.005 c) 1—2
b) 12 d) 3.5
16

Q 2. Fill in the blanks :
) If the units digit of a number is 8,then

the units digit of its cube is
i)  The loss and gain percent are always calculated on the

lii)  In case of compound interest , the principal
throughout the loan period.

Iv)  If the interest is compounded half yearly then to find
the amount we the given time.

v)  The relationship between Amount , Principal and
Compound Interest is

vi) A water bottle marked Rs 1,250 is sold for Rs 1,175.
Then the discount on it is

vii)  If C.P.=Rs 500, S.P. = Rs 620 ,then profit is
and profit % is

Q 3. Game with numbers:

Choose a 2-digit number. Reverse the digits to get a new
number.Add this to the number you started with. Now divide the answer by
11.1s there any remainder left?

Check what the result would have been if you had chosen the
numbers shown below:
1. 27
2. 46 02
3. 89
4. 17



SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE

CLASS VIl
MATHS WORKSHEET

Q1. The number of hours spent by a class VIII student on various activities are
given below:

Activity Online Sleep Homework | Play Others

classes
Number of |5 7 4 3 5
hours

Represent the above information with the help of a BAR GRAPH.

Q2. The given graph represents the marks obtained by a student in different

subjects. Read the graph and answer the following questions:

100 +
90 A
80 A
70 A
60 A
50 A
40 A
30 A
20 A
10 A

Maths

S.Science

Science

English

m2011-12
m2012-13
12013-14

(@)

In which subject/s has the performance improved?

(b) In which subject does the student get maximum marks every year?




SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE

CLASS Vi
MATHS WORKSHEET
Q1 Match the following:
Column | Column I
Circle 6.8 x 10°
680,000 amn
Triangle mr?
amx an axbxh
Bm =+ 5-3 = 55 23
2% "=
Q2 .Complete the following table :
Numbers Associative for
Addition Subtraction Multiplication Division
Rational numbers No
Integers Yes
Whole numbers Yes
Natural numbers Yes
Q4. Write true or false:
i) No perfect cube can end with exactly two zeroes.

i) The rate of GST is uniform throughout
the country.

i) Ifadollis bought for Rs 75 and sold for
Rs 100, then a profit is made.

iv)  12% of 100 is 12.

V) 9% is same as 0.09




SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE
CLASS VIl
MATHS WORKSHEET

Q1 (i) Decrease 12 by 2 %.
(i) Increase 10 by 4%.

Q2Find the Percentage of increase or decrease:

) Price of shirt decreased from Rs 80

to Rs 60.

i) Marks in a test increased from 20

to 30.

Q3 A bag is marked as Rs 800/- and is sold for Rs 68.Find the rate of discount.
Q4 Convert to percentage :

i) 5:6 ii) 3/2

iii) 1.2 iv) 2

Q4. Write 5 uses of percentage in daily life.

Q5.Represent your percentage of marks in previous assessment in the form of a bar graph.

Q6.. Write the co-ordinates of the vertices of each of these figures :

0123456 78 9 10
Q7. In which Quadrants do the following points lie ?
(9,6) (-3,-7) (2,-4)
(1,-1) (1,4) (-1,-2)



SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE
CLASS VIII
CH-12 FRICTION
SCIENCE WORKSHEET-II (P+C)

1. Force of friction does not depend upon:-
a. weight of object in motion
b. nature of surface in contact
c. area of surfaces in contact
d. external force applied on object
2. If applied force is increased then friction will: -
a. increase at the samerate
b. decrease at the samerate
c. increase at a different rate
d. decrease at a different rate
3. Which of the following is not a type of friction?
a. static friction
b. rollingfriction
c. kinetic friction
d. magnetic friction
4. That maximum force of friction when block just starts to move is: -
a. highestfriction
b. limiting friction
c. lowest friction
d. sliding friction

5. Match the column: -

a. sliding friction i) heat production

b. static friction i) applying brakes

c. polishing surfaces iii) greater than kinetic friction
d. advantage offriction iv) greater than rolling friction
e. disadvantage offriction v) decreases friction

6. Fill in the blanks:

a. Frictional forceis caused by the interaction of a body with



b. Noneofthesolidsurfacesareperfectly_ .
c. Two____ surfaces when placed together meet only at certain points.
d. Theinterlockingoftheirregularities ofthe surfacesincontactcauses_
e. Thereisnorelative motion betweenthetwo surfacesincontactincase of
friction.
A ball moving on a horizontal surface stops after some time without applying any force.
Why?

Friction is wasteful at times so why we need to increase itin some cases?

9. What will be the direction of friction in the following image?

10.

Motion >

Write the correct words by putting letters in correct sequence-
i. mendealrist

i. blintucar



SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE
CLASS VIII
CH-17 STARS AND SOLAR SYSTEM
SCIENCE WORKSHEET-III (P+C)

1. Next nearest star for Earth after Sun is :-
a. Ursa major
b. Ursa minor
c. Orion
d. Alpha Centauri
2. Science that deals with the study of universe is :-
a. Astronomy
b. Astrology
c. Agronomy
d. Spacionomy
3. Pole star is a part of which of the following constellations?
a. ursa major
b. ursa minor
c. orion
d. cassiopeia
4. _  isthe dwarf planet :-
neptune

a.
b. uranus
C.
d.

pluto
mercury
5. Match the column :-
a. Sputnik | i) shooting stars
b. Asteroids ii) a star that appears stationary
c. Meteors iii) rocks found between mars and jupiter
d. Polaris iv) our galaxy
e. Milky way v) first artificial satellite

6. Fill in the blanks :-

a. When sunrays fall directly on moon, itis called moon.



b. When sunrays fall only on a part of the moon, itis called moon.

c. When we cannot see the moon, itisa moon.
d. is also called the Red planet.
e. is the first Indian satellite launched on 19" April,1975.

7. Compare stars and planets?
8. Differentiate between meteors and comets?

9. What does the following image depict?

10. Write the correct words by putting lettersin correct sequence-
i) viruesen
ii) restmanoro



SANT NIRANKARI PUBLIC SCHOOL, AVTAR ENCLAVE
CLASS : VI
Bio Worksheet

Ch: Reaching the age of Adolescence

1. Unscramble the underlined words in the following sentences.

o (a) Reproductive life of a woman lasts from hacreemn to spaucemen.

o (b) The development of a caterpillar to an adult butterfly is termed as poommertaissh.
o (c) The overgrowth of sumselc in xalnyr leads to the hoarse voice in adolescent boys.
o (d) Dannalier helps the body to adjust and fight the stress.

2. Complete the following sentences.

o (a) In females, the uterine wall thickens to receive the

o (b) Endocrine glands release hormones directly into for transportation to
the

o (c) The sex hormones, and estrogen are responsible for
the development of characters.

o (d) Release of sex hormones is under the control of a hormone secreted from the

3. Give a suitable word for each of the following statements.
o (a) The site which responds to a hormone.
o (b) Name of a gland which transports secretions through ducts.
o (c) Chemicals which control changes at adolescence stage.

o (d) It marks the beginning of reproductive period.

4, Name the hormone that is released by testes at the onset of puberty.
5. Name the female hormone produced by ovaries that helps in development of mammary
glands.



SANT NIRANKARI PUBLIC SCHOOL, AVTAR ENCLAVE

CLASS : Vil

Bio Worksheet

Ch: Reaching the age of Adolescence

Q.1 Match the following:

Column I Column II
1. Growth hormones (a) Voice box
2. Pituitary gland (b) Thyroxine
3. XX chromosomes (c) Male child
4. Adrenal gland (d) Male hormone
| 5. Thyroid gland (e) Adrenaline
6. XY chromosomes (f) Female child
7. Pancreas (g) Stoppage of menstruation
8. Testosterone (h) Insulin
9. Menopause (i) Master gland
10. Adam’s apple (j)  Pituitary gland
Que 2: Fill in the Blanks:
a. Harmones are requirad in very dpuantity.
b, Hormones are secreted from _ glands directly into bloodstream,
. Diet for an adaolescant has o b a ane.

d. Adolescents mast take proper care of personal
a. Harmane namad prepares the body ta fight or flight.

|Q.3 Answer the Following:

a. Time period when body undergoes changes, leading to reproductive maturity is

called

. Teenagers is the other name used for

o, AL , swwaal and sebaceous glands become maore active.

d. In girlls, first menstrual flow and is called

a. A5 awoman arows old. menstrual cvela staos which is tarmed as

Que.

Mat
ch
the
Follo
wing






SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE
CLASS -VIII
SUBJECT - SOCIAL SCIENCE
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GIVEN DATE: 20/8/2020 SUBMISSION DATE: 22/8/2020
Q1. State True or False.

a) The founder of Arya Samaj was Dayanand Saraswati.
b) Hunter Commission was appointed in 1882 by Lord Rippon.

¢) Lord Macaulay was an orientalist.
d) Raja Ram Mohan Roy established Benaras Hindu University.

Q2. Answer the following questions in brief.

i Who is known as the architect of Modern Indian education?

ii. For what purposes, Sir Syed Ahmed Khan established Mohammedan Anglo- Oriental
College?

iii. Who formally introduced English education in India?

**ACTIVITY: Collect pictures of 3 freedom fighters and write a few lines on their
act of heroism. **
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Q1. In the Political Map of India, mark the location of any six centres of revolt in 1857.

(Refer Pg. No. 64 in your book)
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Q2. Fill in the blanks.

i Nana Sahib led the revolt at
ii. Rani Laxmi escaped to

iii. The new rifle introduced in the army was rifle.
iv. The revolt in Delhi was led by

Q3. Answer the following questions in brief.

i Name four places which were the centres of Revolt of 1857.
ii. Why did the revolt of 1857 fail?

Q4. Answer the following in detail.

i.  What were the economic causes of the revolt?
ii.  What did the educated Indians get after the revolt?
iii. Define: (a) Mutiny (b)Unprecedented (c) Proclamation
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GIVEN DATE: 5/8/2020 SUBMISSION DATE: 7/8/2020
Q1. State True or False.

i. Domestic system of production came after industrial revolution.
ii. Our main textile export market was Russia.
iii. The British set up only those industries which benefited them.

Q2. Fill in the blanks.

i In the year , the first textile mill was set up by the British.

ii. India’s first modern cotton mill was established in the year in Bombay.

iii. Mining also flourished in India as it was an attractive business for
British investors.

Q3. Answer the following questions in brief.

i Name any two kinds of Indian cloth that had large markets in Europe.
ii. Define: Monopoly, Capitalist.
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Q1. Tick the correct answer.

i The best quality of iron ore is:

a) Hematite b) Magnetite c) Limonite
ii. The variety of coal which contains more than 90% carbon is:

a) Peat b) Lignite c¢) Anthracite
iii. Which kind of rock is coal?

a) Igneous b)Sedimentary ¢) Metamorphic

Q2. Fill in the blanks.

i is the largest producer of Bauxite in the world.
ii. The fourth most abundant element in the Earth’s crust is
iii. Biogas is produced from

iv. is the largest producer of Copper.

V. The is a celestial body that provides abundant energy to Earth.

Q3. Answer the following questions in brief.

i What is Coal? Describe its different types.
ii. Mention any two advantages of biogas.
iii. Distinguish between metallic and non- metallic minerals.



